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テキストボックス


BEARRE SHEEME B RBEmRT HR

% # 145 - Totketik E % B B & = S

EER{E 12,129, 997

BHES 12,129, 997

Flmakat 12,129, 997

Flmakat 11,772,000

RETETE 128, 900

1 EREtETE 1.00 128, 900 128, 900

N

BEHEI 2,619,100

2 7R - BRAEHETE 1.00 195,100 195,100

3 TEEREEEN 1.00 636, 100 636, 100

4 BERAEERT 1.00 408, 700 408, 700

5 HERERKIEDHIE 1.00 239, 300 239, 300
=2

6 L2t EENDIERL 1.00 872, 800 872, 800

7 R BRI EORKRE 1.00 267,100 267,100
=2

BERRDOMmY 483, 900

8 LEEERK DML 3.00 161, 300 483, 900
=2

REMHDRBE 6, 281, 400

) KRS S UEDREOREON 3.00 341,700 1,025, 100
=2




BEARRE SHEEME B RBEmRT HR

% # 1 - Akt Bf # & B & B =
10 BRREOHBISERENT 3.00 1,752,100 5, 256, 300
r—2
BERRXDRE 1,131,600
1 MERRO®RE BEMEEE) 3.00 111,100 333,300
r—2
12 MERROBRE BEIREE) 3.00 116,900 350, 700
r—2
13 BERADRE (MEMTLLE - & 3.00 149, 200 447, 600
&)
r—2
I mE R 307, 200
14 HE/ER 6.00 51,200 307, 200
#
R 207, 600
15 S|EEMER 1.00 207, 600 207, 600
=
& - mE 434, 400
16 1% - 3|E 4.00 108, 600 434, 400
)
RE 177,900
17 BE 1.00 177,900 177,900
=
BEEEE 357,997
EHARE 111,597
18 EHAME 1.00 111,597 111,597
=
R 210, 000




BEANRE

TIBFEMEERBERTHR

&t

% R R - BARSTiE BfL 2 B i) ]
19 £BHESR 1.00 210, 000 210, 000
=
BIEEHNEE 36, 400
20 EIRERNEE 1.00 36, 400 36, 400




WIER TIBFEMERRB RS T R

% g - AKSTiE Bifr B 2 B i & 8 W =
B R 11,772,000 + 357,997 12,129, 997
EEAGE 11,772, 000
EERE 357,997
T DR 11,772,000 x 53.85% ( 35% + (1 — 35%) ) 6,339, 222
BRI 12,129,997 + 6,339, 222 18, 469, 219
—fRERESE 18,469,219 x 53.85% ( 35% + (1 — 35%) ) — 4,893 9,940, 781
KBS 18, 469, 219 + 9,940, 781 28,410, 000
HEREELE 28,410,000 x 10.00% 2,841,000
EBERN 28,410,000 + 2, 841,000 31, 251, 000




Wil

SIBEEMSEREESR T HEE

&5 1
%5 REHETE 1LY
2 b g - BIRTE L= vd = B oO(f %8 # " =
FEHRAR (F%ET)
A 1.00 57, 400. 00 57, 400
AR (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 0.50 40, 600. 00 20, 300
& Hi 1E%HeH - 1.00K 128, 900. 00 128, 900
&5 .2
2% FA - BARKHRE 1HhmZ Y
2 b g - BIRTE L= vd = B oO(f %8 # " =
FEHRAR (F%ET)
A 1.00 57, 400. 00 57, 400
AR (A)
A 1.50 51, 200. 00 76, 800
HEm (B)
A 1.50 40, 600. 00 60, 900
& Hi YEZRED - 1. 00405 195, 100. 00 195, 100
5.3
£ . L EE R EEEN 1HhmZ Y
2 b g - BIRTE = v = BHO(f %8 # " =
FEHRAR (F%ET)
A 0.50 57, 400. 00 28, 700
AR (A)
A 1.00 51, 200. 00 51,200
AR (C)
A 9.00 32, 800. 00 295, 200
g
A 9.00 29, 000. 00 261,000
& B 1EZRED - 1. 00405 636, 100. 00 636, 100




ARt AHEE S SR E R PR
&5 4
2% BEREEYE 1A% Y
2 s 1BIE - AR B B B ff # 1 w =
F AL AR (55D
A 1.50 57, 400. 00 86, 100
®EF (A)
A 2.00 51, 200. 00 102, 400
HEm (B)
A 3.00 40, 600. 00 121, 800
H®EF (C)
A 3.00 32, 800. 00 98, 400
= it YEZEREDN - 1.003h = 408, 700. 00 408, 700
‘S5
L% MEHESRKEDOHE 1r—2%y
2 s 1BHE - AR B B B ff # 1 w =
F AL AR (55D
A 0.50 57, 400. 00 28,700
®EF (A)
A 1.00 51, 200. 00 51, 200
HEm (B)
A 2.00 40, 600. 00 81, 200
H®EF (C)
A 1.50 32, 800. 00 49, 200
®iia
A 1.00 29, 000. 00 29, 000
= H 1E¥8EH - 1.00—X 239, 300. 00 239, 300




ARt AHEE S SR E R PR
&S 6
2% : L2 EB O 1A% Y
2 s B - BIRTE B B B ff # W = w =
F AL AR (55D
A 3.50 57, 400. 00 200, 900
®EF (A)
A 6. 50 51, 200. 00 332, 800
HEm (B)
A 4.50 40, 600. 00 182, 700
H®EF (C)
A 3.00 32, 800. 00 98, 400
®iia
A 2.00 29, 000. 00 58, 000
= H YEZEREDN - 1.003h = 872, 800. 00 872, 800
&5
£F AN R TEORE 1r—2%4Y
2 s B - BIRTE B B B ff # W = w =
®EF (A)
A 1.50 51, 200. 00 76, 800
HEm (B)
A 2.00 40, 600. 00 81, 200
H®EF (C)
A 2.00 32, 800. 00 65, 600
®iia
A 1.50 29, 000. 00 43, 500
= H 1E¥8EH - 1.00—X 267,100. 00 267,100
&5 :8
AFF ;LB O 1r—2%4Y
2 s B - BIRTE B B B ff # W = w =
®EF (A)
A 1.00 51, 200. 00 51, 200
HEm (B)
A 1.50 40, 600. 00 60, 900
H®EF (C)
A 1.50 32, 800. 00 49, 200
= it E¥8EH - 1.00—X 161, 300. 00 161, 300




ARt AHEE S SR E R PR
&5 :9
B KEEIRES L UTHRENTERDOEE 1r—2%y
2 s 1BIE - AR B % 8 B ff # 1 w =
F AL AR (55D
A 0.50 57, 400. 00 28,700
®EF (A)
A 1.00 51, 200. 00 51, 200
HEm (B)
A 3.00 40, 600. 00 121, 800
H®EF (C)
A 2.50 32, 800. 00 82, 000
®iia
A 2.00 29, 000. 00 58, 000
= H E¥8EH : 1.00—X 341, 700. 00 341, 700
£S5 :10
L . BRREDMERS SR 1r—2%y
2 s 1BHE - AR B % 8 B ff # 1 w =
F AL AR (55D
A 2.50 57, 400. 00 143, 500
®EF (A)
A 10. 50 51, 200. 00 537, 600
HEm (B)
A 11.00 40, 600. 00 446, 600
H®EF (C)
A 15.50 32, 800. 00 508, 400
®iia
A 4.00 29, 000. 00 116, 000
= H 1E¥8EH - 1.00—X 1,752, 100. 00 1,752,100




Wil

SIBEEMSEREESR T HEE

&5 11
£ BERAXOEE BMEHEETE) 1r—24Y
2 b g - BIRTE L= vd = B oO(f ) W = " =
HEm (B)
A 0.50 40, 600. 00 20, 300
AR (C)
A 1.00 32, 800. 00 32, 800
g
A 2.00 29, 000. 00 58, 000
& B YEZERED - 1.005—R 111, 100. 00 111,100
&5 :12
£ BERAXOEE BMEIZETE) 1r—24Y
2 b g - BIRTE L= vd = B oO(f ) W = " =
HEm (B)
A 1.00 40, 600. 00 40, 600
AR (C)
A 1.00 32, 800. 00 32, 800
g
A 1.50 29, 000. 00 43, 500
& B YEZEREDN : 1.005—R 116, 900. 00 116, 900
&5 :13
£ BERKXOEE (REMLLLLE - &Eh 1r—24Y
2 b g - BIRTE = v = BHO(f ) W = " =
FEHRAR (F%ET)
A 1.00 57, 400. 00 57, 400
AR (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 1.00 40, 600. 00 40, 600
& Hi YEZEREDN : 1.005—R 149, 200. 00 149, 200




Wil

SIBEEMSEREESR T HEE

&S 14
2% REERK 1MHY
2 b g - BIRTE L= vd = B oO(f %8 # " =
e (B)
A 0.50 40, 600. 00 20, 300
AR (C)
A 0.50 32, 800. 00 16, 400
g
A 0.50 29, 000. 00 14, 500
& B 1EZHED 1. 008 51, 200. 00 51,200
&5 .15
£ MESERK 1LY
2 b g - BIRTE L= vd = B oO(f %8 # " =
FEHRAR (F%ET)
A 1.00 57, 400. 00 57, 400
AR (A)
A 1.50 51, 200. 00 76, 800
e (B)
A 1.00 40, 600. 00 40, 600
AR (C)
A 1.00 32, 800. 00 32, 800
& Hi 1E%HeH 1,00 207, 600. 00 207, 600
&5 .16
2F5 : HEE - |mE HEED)
2 b g - BIRTE = v = BHO(f %8 # " =
FEHRAR (F%ET)
A 1.00 57, 400. 00 57, 400
AR (A)
A 1.00 51, 200. 00 51,200
& Hi 1YEZHER - 1.00[E 108, 600. 00 108, 600




Wil

SIBEEMSEREESR T HEE

&= .17
2 BE 15ty
2 b g - BIRTE BT H = B O %8 # " =
FEHRAR (F%ET)
A 1.50 57, 400. 00 86, 100
AR (A)
A 1.00 51, 200. 00 51,200
e (B)
A 1.00 40, 600. 00 40, 600
& Hi 1E%HeH - 1.00K 177, 900. 00 177, 900
&= .18
&% EHARE 1LY
2 b g - BIRTE BT H = B O %8 # " =
EXRARE
= 1.00 111, 597.00 111, 597
& Hi S .00 111, 597.00 111, 597
&5 19
2% EBHRRA 1LY
2 b g - BIRTE BT H = B Ol %8 # " =
EBHRERERE
= 1.00 210, 000. 00 210, 000
& Hi 1E%HeH 1,00 210, 000. 00 210, 000
E5:2
£ MIERAEE 1LY
2 b g - BIRTE BT B = B Ol %8 # " =
EZRYUITRE
I 1.00 36, 400. 00 36, 400
& Hi 1E%HeH 1,00 36, 400. 00 36, 400






